‘ 55
@ Back wad] Substifubion -
M

Backwend subsh'lvion method  used o sdve o linean
9 / f C?Uajl'dn; Hmj Lms on uffe/- f~r.‘awju)a/

75 em. O

Coe H\'C\‘m{' mai{‘f\‘x : -

. X - b‘
a X 4+ Q X+ % qtz A’} £ v Y q| M
W \ (2 g

-\ a .“ Se s + ‘L XK - bz

A st Agn X s ks
- b |
Ann X" - on |
f"'al\ ql'l. q‘3 % kg 0\\“ b\-\ (
|
N [ulb] |
0 O 433 - Az n kg T
: ‘ — -. L Coefhicient
i ) co o ~J wiedry x

f_j_'gg Solve  the Fc//ouu'nj |in eaw Sy_s,lur\ u;;‘cv )gqc/cwfol
Sobstitubton and  "Pind  He  cast

Lle_Xz +’Z.X3+3)(‘1:2o
.._LXL"" 7'X3 _ \_’ X\f :__7_

3X|1:6




e
o

step | X:-é':?— = one o
f) Y 3 > "
—.'"X 1
— X T .
5%:,: 4 i X3 = i 5 = - =) Three opefa}wns
é —s%* \
R 2
shps i Y2 TEXIRTIX2 =P oy sFue operdios
- g -+ 2
I 3

IX=Y-2x-| -3X2+20 _ 3
L’

Shept: X,

T
16 =) = n

o
P

Hence, ILW/"J C"57L

Cost  of Rac kwerd Sbbs frldvom ()@- f.)
Fo/ s‘olv\'ng,.. nxn linesr 5:/5)\'/*‘-

step |+ ,= | x, =
\ o |
- ) (B
3
Y 3 Y
n Nn- | n

{ ool N
lobed - s O + ] 42 4+ 34 s 4 0=y =m)—
~ =,

?

n —n

z

< . .
IOM x/'._ s ] -+ 2- +3 +l1-¥\~--\- n - H(n.‘., n1+n
’*“‘2 -
y 2 <
Hesnce ,l,,/aj Cost = N=n | n+n -
/ % = B




KQW\M F

n(nti)
] + 2 - =
T3+ + n = K -
k=)
2 3 4 n
| 2 4 3 wewn — i o n(n+1) (en+)
£
<=

)'/fvcf /{@Moji )zo Solve e ,f'lea/ 5/;/4/'\ }‘)X:E
M C‘MSSI‘aM E/l'm;'noj'bn'-

(Alb) ")(U}C) solve by f.S.

Avgmenled
éw‘-ﬁ‘x UF,V )

@ CMSS - (:)—;fo\qm Rccovc.L\‘cm .
(A15) g (T X)

@ \nuw;e, Nc/“l’loc/‘.
. Find ﬁ—’:
(AIT) = (1)4)
P Ther x= b

1 CY‘O\M&/;’( ﬁule, %

« Find |R) +o0

« Then M:.Lﬁl 2 xz;l}_?—‘l P Xn:*/—@
|A] |A] i




@ L U Fﬁcf'ﬁf;lo-}\bu:

o \.;J*r.‘f_ A - L u wheve | is lowes ,'ﬁqms!f. wiatni
U s Upper }'Y:ayﬁl¢ madni

. Lef Y=UX =
s LU = b
BeY
. Now solve LVY=-b by F-S and find Y

. qum SG\UC ux = Y L)J )?S MJ Fl'nd X

B_e_mm:f: ﬁ;. 5/;&& of Mese meH‘ch; s ke Hags

[ife) < Gl 1) = (B)

Eﬁf? 5'}15'&-4' Hm.f 1)(. A l$ nxn Md,}l'flk’ H7_e,r1 Ve ('05} a{'
ﬁﬂ(jz";’ﬁ /9 2n” . n®

C ST q)—l [\ e ey, @ S o Gl

z Azl Qa7 s Ay > Qan Croy €22 wi Con
A=AA = | , ‘ X , _ g =
: "" . ' ’ . U iy C_r

Al Ay o "'*nnJ Anz  “nn Cav Cn2 K

Cyp =" QXL Ay EECNEXER TR <> + QX Ain  Costs N for x

n-1 for =+

-
Hence, C, costs  2n-) =

BU’L H has ﬂ ejmwk amc:} each one 55’5}3 = a
Hemt h/*aj C@Srl oqf CM::U!JJJ ﬁ 1S

N (2n-1) = 2n-




	Binder1.pdf
	54
	58


